
1. The Affluent Society

Practice essay questions


1. ‘There remained a broad measure of agreement between the Conservative and Labour Parties in the years 1951 to 1963.’
Explain why you agree or disagree with this view.


2. [bookmark: _GoBack]‘British society in the 1950s remained fundamentally conservative and resistant to change’. 
Assess the validity of this view.


3. ‘The Suez Crisis clearly showed that Britain was no longer a Great Power’.
Explain why you agree or disagree with this view.
